n H 1+ B =E H = ¥ 8 1+ 2 BB HEE
=1 15| & Iz H D < =l E =1 = B # & 1z £ O <K B E & B o & L If
[—HE ¢ E] [FREAFIR]
= E S & BiREHFICE OGN FEEE
/\ /\
/ N ~ N
ﬁ =
i
18 4/4 (f go/io0 | 907100
2/3 3/4 " 50/100 55/100 60/100 707100
o 50 100 200 400 60 XIRERR
1/2 2 AR 100 100 100 100 100 100 URAfE
IR AfE 2=
[(EEKE] (FHETHT]
= E S & BB (CE O A EE%E
/\ /\
- N ~ N
& =
O
i 4/4 | 60/ 70/100 75/100 80/100 B
2/3 3/4 = 100
| 5 10 100 200 400 AR
1/2 1 XTIZAERR 100 100 100 100 100 IRALE R
IR A fE 3
[ |-Em=aiEzs [ BUbagsEEE [ sty [ |:s#ehsaiezsm




